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Series

Summation Notation:
The capital Greek letter sigma Z is used to provide a shorthand

notation for a summation.

In summation notation, the sum of the terms of the sequence {a |, a, a; _ a,}

. <D

is denoted ng :qI{-q’_* q3+ . %qh
i=1

which is read "the sum of a; from k=1 to n"

Sigma notation is actually more widely used than the above definition suggests.

See if you can evaluate each of the following summations:
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Arithmetic Series:
o The summation of the terms of an arithmetic sequence

FOrmula e mm e 5, = g[ZaJr(n—l)d]

Let's derive this formula that can be used to determine the
sum of Eterms in any arithmetic series...

[a+(n—2)d]+[a+(n—-1)d]
t old + a
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Example:

Evaluate the following summation: \/\”qu

—2+T7+16+25+344+ .. +1420 =
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Example:

A corner section of a stadium has 8 seats along the front row. Each
successive row has two more seats than the row preceding it. If the
top row has 24 seats, how many seats are in the entire section?
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Geometric Series:
e The summation of the terms of a geometric sequence
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Let's derive this formula that can be used to determine the
sum of "n" terms in any geometric series...

S=a+Yr N>+ + + N '
» Multiply both sides\of thi\ summati§n by r and then\ubtract the\wo equations
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Fnd Siy £ thogames
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Example:

Find the sum of each of the following series:

(@ § =—3-6-12—-24—...—196608
-\
-19¢ 608=—3(3)
GCs 936__=__a"";‘>>10 65534

ye_ ;n\\

n
/7=n -
S/) ==3933(3

b) §=5-10+20—-40+...+5242880
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Attachments

Q NOTES - Standard to Vertex Form.pdf



Standard --> Vertex Form

STANDARD |m »| VERTEX
2 =a(x- h)2 +k
y=ax +bx+c y=aix

¢ 'a'value « 'a'value

— stretch factor — stretch factor

— direction of opening — direction of opening
s y-intercept s vertex

- AOQS

— Domain/Range
- Max/Min y value
— Sketch/Graph

We need to FACTOR..."Complete the Square' Method!!!

S --> V by completing the square

STEPS: EXAMPLE #1...

1) Factor out the 'a’ value from both y — xz — 6'): _|_ 4
the x and x? terms [GCF].

2) Complete the square on the x term...
- take half and square it!
- add this constant within bracket
- subtract constant outside bracket
multiplied by the 'a’ value in front,

3) FACTOR the perfect square trinomial

Note: JFirst & /Last with sign from middle

VERTEX FORMI!






SMART Notebook


	Page 1: Jan 7-11:38 PM
	Page 2: Jan 7-11:52 PM
	Page 3: Jan 1-2:07 AM
	Page 4: Jan 8-12:13 AM
	Page 5: Jan 8-12:19 AM
	Page 6: Jan 1-2:29 AM
	Page 7: Jan 8-12:28 AM
	Page 8: Jan 1-4:14 AM
	Attachments Page 1

